Приложение 1

Ф. И. ____________________________________ Класс ___________ Дата _________________

Тема: Сложение и вычитание целых чисел
Вариант  1

	1. Выполните сложение
	Верно «+»  неверно «−»
	Балл

1 или 0

	а)  – 34 + (– 7) =
	
	

	б)  9 + (– 42) =
	
	

	в)  – 11 + 96 = 
	
	

	г)  0 + (– 84) =
	
	

	д)  – 53 + 53 =
	
	

	2. Выполните вычитание
	
	

	а)  – 12 – 46 =
	
	

	б)  59 – (– 18) =
	
	

	в)  0 – (– 25) =
	
	

	г)  – 38 – (– 38) =
	
	

	д)  7 – 96 =
	
	


                                                                                                                             Итого: _____ баллов    

                                                                                                                           Оценка: _______

